H £ 0l & AF & S

2023-09-22 16:20:04

Al A

A sEBL
3 =g " 23t
ol SYEA JIERE EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
s 80,884,122 77,729,129 3,154,993
= 4,817,923 6,719,134 21,901,211
z 167,018 160,874 6,144
2l 26,003,865 22,858,071 3,145,794
[ 7,157,005 6,569,563 587,442
= 42,738,311 41,421,487 1,316,824
s 34" L3 78,868,688 76,728,287 2,140,401
= 4,817,923 6,719,134 A1,901,211
= 167,018 160,874 6,144
) 26,003,865 22,858,071 3,145,794
< 7,157,005 6,569,563 587,442
= 40,722,877 40,420,645 302,232
SEH J|pta= 5,224,192 4,970, 156 274,036
= 640,156 657,156 A17,000
= 41,018 29,874 11,144
) 71,911 143,647 NT1,736
< 835,009 637,091 197,918
z 3,636,098 3,482,388 183,710
SHMUE HE0E AIRE HWEXH 82,038 70,894 11,144
= 41,018 29,874 1,144
[ 12,548 12,548 0
= 28,472 28,472 0
307 2Ito1d 82,038 70,894 11,144
= 41,018 29,874 1,144
[ 12,548 12,548 0
s 28,472 28,472 0
02 LB HANHEE 82,038 70,894 11,144
OsHEMESS0E MRE WHESAE
82,038,000 82,038 70,8%4 11,144
= 41,018 29,874 1,144
< 12,548 12,548 0
s 28,472 28,472 0
SEME0S 20UM XA 21,715 26,388 24,673
< 6,515 7,905 21,390
= 15,200 18,483 13,283
307 2I2t01 21,715 26,388 24,673
< 6,515 7,905 21,390
= 15,200 18,483 13,283
02 2IZHBYAIHE £ 21,715 26,388 14,673
OsHEMES20S 2Q0UM X
21,715,000 21,715 26,388 24,673
< 6,515 7,905 21,390
= 15,200 18,483 13,283
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=aak

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
sXlZel X2 102,730 205,210 102,480
Jl 71,911 143,647 AT1,736
= 30,819 61,563 A30,744
101 @12A4H| 99,135 188,793 89,658
) 69,408 132,155 N62,747
[Ea 29,727 56,638 A26,911
04 JIZtNZ22 XS 2+ 99,135 188,793 89,658
OsAl2e|X& 12| 99, 135,000& 99,136 188,793 89,658
Il 69,408 132,155 N62,747
s 29,727 56,638 A26,911
201 2Bt ] 3,59 16,417 A12,822
Jl 2,503 11,492 /8,989
= 1,092 4,925 A3,833
01 At2teltl 3,5% 16,417 N12,822
Oget+=ZHI 3,59 16,417 N12,822
-sA&elXd 288l S 3,595,000& 3,5% 16,417 A12,822
) 2,503 11,492 8,989
o 1,002 4,925 A3,833
Hd=sgol #=HLH KA 688,800 962,000 A273,200
& 192,864 162,000 30,864
T 495,936 800,000 A304,004
301 LELEN S 688,800 962,000 A273,200
== 192,864 162,000 30,864
= 495,936 800,000 A304,004
14 IIEt2d3 688,800 962,000 A273,200
ONE SO #=H2H KR AY
200,000& +3,444& 688,800 962,000 A273,200
LS 192,864 162,000 30,864
o 495,936 800,000 304,064
o=l =M XIHARS (XHH) 173,800 0 173,800
301 22N = 173,800 0 173,800
4 JIE2 8= 173,800 0 173,800
02023 Hed =l HFHPX 20 XA
100,000 %1, 738 173,800 0 173,800
CASY SHOERS 4 N2 A 20,000 54,000 A34,000
= 10,000 27,000 A17,000
L= 4,000 10,800 26,800
T 6,000 16,200 10,200
307 glztol & 20,000 54,000 A34,000
= 10,000 27,000 A17,000
= 4,000 10,800 26,800
s 6,000 16,200 210,200
02 LB AANHEE 20,000 54,000 A34,000
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O=ZR& A3 20,000,000& 20,000 54,000 234,000
= 10,000 27,000 A 17,000
= 4,000 10,800 26,800
= 6,000 16,200 210,200
CAIBHM SMUHERSE 4 KIAAL (XHR) 15,200 5,000 10,200
307 QI2H0l A 15,200 5,000 10,200
02 CIZHALAIH E X 15,200 5,000 10,200
Os&E83t gAY
15,200,000 171 2 15,200 5,000 10,200
e PSESPNE={V DN N ELIN R 275,800 193,967 81,833
= 82,740 58,191 24,549
= 193,060 135,776 57,284
307 212t01& 275,800 193,967 81,833
= 82,740 58,191 24,549
i 193,060 135,776 57,284
08 OIXIEXNS 275,800 193,967 81,833
SUFMAZ OIXHRY X
275,800,000 275,800 193,967 81,833
= 82,740 58,191 24,549
ik 193,060 135,776 57,284
SENES20S 24t XAAY 49,000 0 49,000
= 10,050 0 10,050
= 38,950 0 38,950
307 212t01& 19,000 0 19,000
= 4,050 0 4,050
= 14,950 0 14,950
02 QIR AAIHEE R 19,000 0 19,000
OsEMEE20Is EE2IZRAXA (L
&) 5,000,000& *17H 2= 5,000 0 5,000
T 1,250 0 1,250
i 3,750 0 3,750
OsEMEE20Ie 243 XNANS (HEH)
7,000,000 *20H 2 14,000 0 14,000
= 2,800 0 2,800
= 11,200 0 11,200
402 QI2ERHE0|1 A 30,000 0 30,000
L= 6,000 0 6,000
= 24,000 0 24,000
02 QI TH2AIE EE(0IETHE) 30,000 0 30,000
SENEE2L0IS 24NN (HEHA)
30,000,000 %170 2 30,000 0 30,000
s 6,000 6,000
i 24,000 24,000
=0 EaH XA 42,49 30,000 12,492
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[ 5177 4,500 677
= 37,315 25,500 11,815
301 EtE NS 42,492 30,000 12,492
< 5177 4,500 677
= 37,315 25,500 11,815
14 JIE2 43 42,49 30,000 12,492
gl 2SHM K3 A
42,492,000 42,492 30,000 12,492
< 5177 4,500 677
o 37,315 25,500 11,815
SAME M3 FIt QAH XA 349,920 0 349,920
[ 139,968 0 139,968
= 209,952 0 209,952
301 EtE NS 349,920 0 349,920
< 139,968 0 139,968
= 209,952 0 209,952
YIS 349,920 0 349,920
OSAIE HII23 FIt e XA
349,920,000 349,920 0 349,920
< 139,968 0 139,968
= 209,952 0 209,952
USEsMSYLD|ER= 55,843,293 54,167,659 1,675,634
= 2,113,207 3,989,268 1,876,061
z 126,000 126,000 0
pJ 25,905,530 22,688,000 3,217,530
< 5,294,481 4,977,269 317,212
= 22,404,075 22,387,122 16,953
sIIH SSA(&eIX) 1,355,461 1,280,461 75,000
402 QI”FXH=201H 1,342,925 1,267,925 75,000
01 IR SASE X (XHMITHR) 1,342,925 1,267,925 75,000
o#el == m3J|
15,000,000 *10CH*50% 75,000 0 75,000
SISt sHE M2z XA 27,647 14,000 13,647
< 8,294 4,200 4,094
= 19,353 9,800 9,553
301 LEIENS 27,647 14,000 13,647
< 8,24 4,200 4,094
= 19,353 9,800 9,553
14 JIE2 43 27,647 14,000 13,647
RISt sHEMHLEE XA
100,000 %276.47ha 27,647 14,000 13,647
[ 8,294 4,200 4,094
T 19,353 9,800 9,553
=y KA 1,563,700 1,756,100 A192,400
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307 lztol & 192,400 A192,400
02 2B YA HE L 192,400 192,400
O=¢ Uld= Mil SSAL
30 0 192,400 A192,400
SN NAA 721,290 620,469 100,821
= 442,878 389,939 52,939
= 139,205 115,265 23,940
= 139,207 115,265 23,942
402 2I2F X201 & 721,290 620,469 100,821
= 442,878 389,939 52,939
[ 139,206 115,265 23,940
s 139,207 115,265 23,942
03 2IZHRAETAI I 721,290 620,469 100,821
OELMHH XBAL
194,245%1+3,713.38 721,290 620,469 100,821
= 442,878 389,939 52,939
& 139,206 115,265 23,940
= 139,207 115,265 23,942
detdsits ERSASANE 15,400 15,000 400
T 3,850 3,750 100
o 11,580 11,250 300
301 eEtE N = 15,400 15,000 400
s 3,850 3,750 100
o 11,550 11,250 300
4IE2d=S 15,400 15,000 400
OrlgtEstte dFsHHEAKE
200,000&* 7721 15,400 15,000 400
& 3,850 3,750 100
T 11,550 11,250 300
AlgAE JYENOAMNY 7,828,100 7,828,100
301 EtE NS 7,777,500 7,777,500
14 IIEt2 83 7,777,500 7,777,500
OLNZE & THHH X (MES)
747,720,000 747,720 320,000 427,720
= B&E @ N 512,000,000 512,000 200,000 312,000
OL=ZZ A THH X2 38 0 0 774,000 AT74,000
020234 SRE H SAtuzt XJAAL
4,000 +6, 050 24,200 0 24,200
O#7el =R0loi A== 2dl X
1,440,000& *7ha 10,080 0 10,080
= B &= THBHXIE 188,000 125,000 63,000
S 37,600 25,000 12,600
Ea 150,400 100,000 50,400
301 LELEE S 188,000 125,000 63,000
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el DSESASMAD|IBIHS (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
== 37,600 25,000 12,600
= 150,400 100,000 50,400
14 JIEt2 43 188,000 125,000 63,000
O= Et&=2 MuiXI& 188,000,000 188,000 125,000 63,000
< 37,600 25,000 12,600
= 150,400 100,000 50,400
SIESNEES 13,116 11,700 1,416
o= 1,967 1,755 212
= 11,149 9,945 1,204
301 LEI2EZ 13,116 11,700 1,416
L= 1,967 1,755 212
= 11,149 9,945 1,204
14 JIEt2 43 13,116 11,700 1,416
Ost==Yal2 XA 6,780,000& 6,780 7,860 1,080
= 1,017 1,179 A162
o 5,763 6,681 2918
O =saZ2 KA 6,336,0002 6,336 3,840 2,4%
= 950 576 374
= 5,386 3,264 2,122
=02 3+ 5,185,800 5,280,000 A%4,200
L= 2,074,320 2,112,000 A\37,680
i 3,111,480 3,168,000 56,520
301 L2 Z 5,185,800 5,280,000 294,200
L= 2,074,320 2,112,000 A37,680
= 3,111,480 3,168,000 56,520
14 JIEt2 43 5,185,800 5,280,000 294,200
Os0gl 3= 5,185,800,0002 5,185,800 5,280,000 A%4,200
< 2,074,320 2,112,000 N37,680
i 3,111,480 3,168,000 56,520
28 SAXEAMS 22,544,000 22,288,000 256,000
J| 22,544,000 22,288,000 256,000
301 L2 EZ 22,544,000 22,288,000 256,000
J| 22,544,000 22,288,000 256,000
14 JIEt2 43 22,544,000 22,288,000 256,000
OJI28 SUXEAY
22,544,000,000& 22,544,000 22,288,000 256,000
J| 22,544,000 22,288,000 256,000
Jl2d SURSAY 23| 81,530 0 81,530
J| 81,530 0 81,530
101 Q14| 46,673 0 46,673
7l 46,673 0 46,673
M IIRH2Z2XSE S 46,673 0 46,673
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ol DBESASUADERR EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 2,160 2,400 2240
= 8,640 9,600 2960
301 EtE NS 10,800 12,000 21,200
< 2,160 2,400 240
= 8,640 9,600 2960
14 JIE2 43 10,800 12,000 21,200
Oz d=sy H2IIsXl 23 XA
9,000& 100~ 122 10,800 12,000 21,200
S 2,160 2,400 2240
i 8,640 9,600 2960
S8 HAIS PHI XI&(4X1) 176,260 0 176,260
[ 176,260 0 176,260
301 LEENS 176,260 0 176,260
< 176,260 0 176,260
14 IIEt2 8= 176,260 0 176,260
OMAHIZY =8 HAS FLHI(Hd8d)
176,260,000 176,260 0 176,260
< 176,260 0 176,260
N B =LY T2 245 XA 17,800 0 17,800
< 3,560 0 3,560
= 14,240 0 14,240
307 2I2to1 17,800 0 17,800
< 3,560 0 3,560
= 14,240 0 14,240
02 2IZHBYAIHE A 17,800 0 17,800
O ZB=HE3 =2 25t XA
& 17,800,000 * 14! 17,800 0 17,800
< 3,560 0 3,560
s 14,240 0 14,240
dg Zlgdsss B2 ALY 20,790 0 20,790
< 6,240 0 6,240
= 14,550 0 14,550
307 2Ito1H 20,790 0 20,790
< 6,240 0 6,240
= 14,550 0 14,550
02 2B YAIHE £ 20,790 0 20,790
Oty datdstts HEEs A3
20,790,000 = 14] 20,790 0 20,790
< 6,240 0 6,240
= 14,550 0 14,550
HHENENE ALY 2,830,000 0 2,830,000
pJ 2,880,000 0 2,880,000
301 LEENS 2,880,000 0 2,880,000
) 2,830,000 0 2,830,000
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ol DBESASUADERR EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
14 IIEt2 8= 2,830,000 0 2,830,000
OHHAZSHE ALY 500, 0002 *5,760ha 2,880,000 0 2,830,000
2l 2,830,000 0 2,880,000
EXI QIHIEIE RIE A 109,000 0 109,000
< 32,700 0 32,700
= 76,300 0 76,300
109,000 0 109,000
< 32,700 0 32,700
z 76,300 0 76,300
109,000 0 109,000
SHERXI QIMIEIE XA
1,172,0432 +93ha 109,000 0 109,000
< 32,700 0 32,700
= 76,300 0 76,300
sZMoi=+4H X 94,850 0 94,850
[ 94,850 0 94,850
302 OI=LMHHEAZ 94,850 0 94,850
< 94,850 0 94,850
02 2 S HES243 94,850 0 94,850
Ob8 52 sYMai=7Hl X (88H)
94,850,000& 13 94,850 0 94,850
< 94,850 0 94,850
9,771,849 9,789,974 N18,125
= 1,157,210 1,157,210 0
) 1,824 1,824 0
< 280,787 276,287 4,500
= 8,332,028 8,344,653 N22,625
FTA 222 2StASE (HQIXI) 87,675 70,800 16,875
402 QIZERHZ01H 86,875 70,000 16,875
01 RIENSA S E X (XM THR) 86,875 70,000 16,875
OHZ HE & ZEAMY
33,750, 000& *50% 16,875 0 16,875
1,171,287 1,221,287 A50,000
1,102,000 1,152,000 50,000
SER(XHHE) 1,102,000 1,152,000 50,000
g N3AY
250,000,000 250,000 300,000 50,000
£ oloet RE(HEAY) 198,900 183,900 15,000
< 59,670 55,170 4,500
= 139,230 128,730 10,500
198,900 183,900 15,000
< 59,670 55,170 4,500
s 139,230 128,730 10,500
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A sEBL
3 =g " 23t
ol 2ol - S5 s4X (SH9 H2)
SA - Z3F - SRA(E) - HRAEY = Ofl &F2H I8N Hws2
02 QI X2 AL E X (01X THE 198,900 183,900 15,000
O NSEXE daIE A=A
198,900,000 198,900 183,900 15,000
< 59,670 55,170 4,500
= 139,230 128,730 10,500
= 5 - AS - /RS2 4,186,470 3,979,003 207,467
= 100,000 100,000 0
< 411,994 346,679 65,315
= 3,674,476 3,532,324 142,152
JAE Hif B4R HotES 103,100 116,933 13,833
206 TH=HI 35,000 43,833 13,833
01 M= HI 35,000 48,833 13,833
Odgh SEAAE 4S8 XA
JE0E 0 13,833 A13,833
A d=s0gel =4 620,600 610,600 10,000
307 2Itold 180,000 170,000 10,000
02 IHB A HE L 180,000 170,000 10,000
OZXHcH #0 s0iel SHE =3 S Al
& 1,000,000& * 10 10,000 0 10,000
sSotE 2ckel HifEt XA 19,200 0 19,200
< 6,000 0 6,000
= 13,200 0 13,200
307 2I2to1d 19,200 0 19,200
< 6,000 0 6,000
= 13,200 0 13,200
02 LB AANHEE 19,200 0 19,200
O=2ctel 2o =i X122 AL
24,000,000 * 1= +80% 19,200 0 19,200
< 6,000 0 6,000
= 13,200 0 13,200
R+ SAS M ZET XNSAS (HEALY) 20,000 0 20,000
< 12,500 0 12,500
= 7,500 0 7,500
307 2I2to1 20,000 0 20,000
< 12,500 0 12,500
s 7,500 0 7,500
02 B AAHEE 20,000 0 20,000
OR=+ sASYH ZEMH XE A
5,000, 000& *5IH A +80f% 20,000 0 20,000
[ 12,500 0 12,500
= 7,500 0 7,500
C-A2 2Y sERAME B#E JI2d = 41,000 0 41,000
< 12,300 0 12,300
= 28,700 0 28,700




M s3I
M =g ZdH 2E
&Rl siE I8 - AS - 7S2d (EEEE))
2 - FH - SRS - KIRA - B ol et o & o HID S
307 @I2tol ™ 41,000 0 41,000
< 12,300 0 12,300
= 28,700 0 28,700
02 QIS EX 41,000 0 41,000
020238 =-Al 88 sS4 B8 d
41,000,000 *1 41,000 0 41,000
< 12,300 0 12,300
= 28,700 0 28,700
KNS HEA 28 ssE432 H#HE N 36,000 0 36,000
= 11,250 0 11,250
= 24,750 0 24,750
201 L2 36,000 0 36,000
< 11,250 0 11,250
= 24,750 0 24,750
01 AtR2telbl 36,000 0 36,000
Oget==8H] 36,000 0 36,000
NS UEA 2B s HE R
45,000,000 *80% 36,000 0 36,000
< 11,250 0 11,250
= 24,750 0 24,750
20234 Mgs e XHaXI& 60,000 0 60,000
< 18,000 0 18,000
= 42,000 0 42,000
301 LEIENZ 60,000 0 60,000
< 18,000 0 18,000
= 42,000 0 42,000
14 J|Et2 &3 60,000 0 60,000
Odgs M XtHRIA
60,000,000 *1& 60,000 0 60,000
< 18,000 0 18,000
i 42,000 0 42,000
2023 H E2AAME MEME 35,100 0 35,100
[ 5,265 0 5,265
= 29,835 0 29,835
206 Mz bl 35,100 0 35,100
< 5,265 0 5,265
= 29,835 0 29,835
01 M=4l 35,100 0 35,100
02023 Mg EZAAE MEMZ
3,000& 11,700 35,100 0 35,100
< 5,265 0 5,265
= 29,835 0 29,835
ASAY |4 3,842,884 3,841,49% 1,389
= 807,350 815,500 28,150
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SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
s 0 5,000 5,000
) 24,600 24,600 0
< 34,734 332,237 2,497
= 2,676,200 2,664,158 12,042
Elami=z (B=x) 480,356 483,356 23,000
< 120,089 120,839 AT
= 360,267 362,517 22,250
201 12,000 15,000 23,000
< 3,000 3,750 AT
i 9,000 11,250 22,250
01 At 2 12,000 15,000 23,000
O 12,000 15,000 23,000
ZA
150,000 80 12,000 15,000 23,000
< 3,000 3,750 AT50
= 9,000 11,250 22,250
els 20,000 0 20,000
301 RS 20,000 0 20,000
14 JIEI2 4= 20,000 0 20,000
OGPRIE=IL I3 XIJ
20,000,000 20,000 0 20,000
GAP QIZ =D QHE A A IR (KHA) 20,250 0 20,250
301 LEtE A 20,250 0 20,250
14 20,250 0 20,250
O
20,250,000 20,250 0 20,250
SE31 7,640 16,301 18,661
= 0 8,150 28,150
[ 2,29 2,445 2153
= 5,348 5,706 A358
308 KtXIEHX 7,640 16,301 18,661
= 0 8,150 28,150
= 2,292 2,445 A 153
= 5,348 5,706 A358
08 7,640 16,301 18,661
O
7,640,000 7,640 16,301 18,661
= 0 8,150 28,150
S 2,292 2,445 A 153
= 5,348 5,706 N358
HE ety MY 404,350 424,350 £20,000
301 EtE NS 0 50,000 50,000
14 IIEt2 8= 0 50,000 50,000
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2A:
X XH -
(=

=aak

SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
020223 BOIEZAY BTyl 20| ZBFY
27,847,000 27,847 27,847
O3 ELTWH TIRAR 2b| E etz
20,006,5702 20,027 20,027
O ELIWEH TIRARS 2H| 0K
2 123,560& 124 124
020224 HIZ JH2HS XIRAN 28| 0IXH
2HOH 764,670 765 765
020228 AISAOIBCHSH XIRIAIRS Z B
gret 2,060,000& 2,060 2,060
020223 ADIET ICTB=E SHHAILES)AM
o AN By 59,906,000& 59,906 59,906
020224 ADIEE ICTBSE(244F) XA
& AN By 100,000,000& 100,000 100,000
020224 SAXI0I 8 EE3H UL KIZ A
) TN FsAH bhet
4,305,000 4,305 4,305
0202243 D4 MAAIS STHBHAY E T o
gre 11,390,600 11,391 11,391
020223 6P QIR A=A KIZIAY 2U| O|XH
Sla=1 9,970% 10 10
022 ZSSE YA NRA 2| 0]
Rroy gres 1502 1 1
020223 6P QLS4 XA 2b| FHF
PL 1= 1,784,900& 1,785 1,785
0202 SEQIATIAME KA 2b| &
SHEHOH Bkt 20,901,450 20,902 20,902
0202 SEQITTIAME NAAY bl 0
AH2Hon Bkt 589,790& 590 590
O202 SX0I8RE NAAY W]
PL 1= 6,511,950& 6,512 6,512
022 SESSHME NAAY 20| 0l
AHOH Bt 185,490 186 186
O ZRBHESZAL 2W| WHTH ot
= 79,000& 79 79
22 SENBEA0IS SEXIAAL o
= 612,430& 613 613
028 SEMHSY0IS S A bt
=1 252,000 252 252
020228 SIISAX XIRAS 2] ZSz
o Bt 12,887,000 12,887 12,887
020228 SIISAXTH XIRAS 28] 0/XH2
AHOH Ut 78,4703 79 79
02218 Y4 WHFSLAES KA =2t
T Ao B, 1,192,570& 1,193 1,193
02021 Yir HHASLE KA =2t
OIRHEHAgO4 Bht 8,2602 9 9
0228 Yot FHPSLES KA 2|
TR Bit %,5002 100 100
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2A:
X XH -
(=

=aak

A - F3 - SA(3H) - HRANY - BES Off &4 & A HnsZ
O2024 AME MBAsH2 XRAL 2|
OI XAy Bret 5,3502 6 0 6
@ Al- SHIPESEES 443 8% 13,075 430,820
O 0IEFSE R ASFIISER
R2IAR! CHl D ety 1,434,0002! 1,434 2 1,412
O2024 =081 B+ KA TH I
ol 74,880,0002! 74,880 0 74,880
O SEAZ2 HE 28FY| NBAY &
bl e e 4,400,000%! 4,400 249 4,151
O224 AYRSTEAAH SHAL 0K
i A4 o 33,2802 3 0 %
O20224 B ZHOHFNMY| TH| RS
3,252, 10024 3,253 0 3,253
O2H AYHSBEAYH SHAY Tt
H e zro 400,0002 400 0 400
O20224 B2 JH20HE XIAAY THl ZHZ
o 9,132,2302! 9,133 0 9,133
020221 B2 J420HS XIRAI SH 0IXH
Aol 431,0702! 43 0 43
O ESEH XIRAI TH Razroy
0,012,910%! 0,013 0 0,013
Q2022 EQHEH KIRAI THI OIXeA
o 28,3702 29 0 29
O Soiol OIFBE KA Tl Za
ol 16,611,9502! 16,612 0 16,612
O2H SAS Mo B2 KA Sl
H e zro 30,352,370 30,353 0 0,353
020221 ARSI THSIANS Z ST BHL
31,0002 311 0 311
020224 ADIER ICTS=8 SA(ASES)A
o T vigt 17,972,0002! 17,972 0 17,972
0024 ADIER ICTSEEH(2AMS)AY F
SO Bhet 30,000,002 30,000 0 30,000
02021 SHUUXI0IBESSH ALK ZAI
E)AY DT et 646, 0002 646 0 646
O SA2 M2MMCK SHAY Zg
ok Brt 2,785,002 2,785 0 2,785
0221 SA2 MMM SHAY AL
olg =89 By 30,000,002 30,000 0 30,000
O24 SRS M2y 28 S X
A DTN et 4,487,3002! 4,488 0 4,488
020224 IS AHBAH NRA X
4 Bhit 250,0002 250 0 250
020224 SATHHHAIE BHRIDH XIRAI &
S04 Bhet 2,718,600%! 2,719 0 2,719
02002 Dh4e MAD|BIDRE XA SH Ol
Rros grt 2,9202! 3 0 3
Q2022 Al 210 MAH| B2AAY He o
dre 1,008, 4002 1,004 0 1,004




A s34
M HRs(s3EL)
thel: B8XE EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
O2022F A0 MAH] Z22PAY =4I OIXL
of Byt 8,260 9 9
02022 J0I:Z0F THOHU AL XIZAE &
Aol Bt 6,750, 100& 6,751 6,751
02022 J 020k THoHUEAIE XIFAE &
Bl OIXteH BHg 36,6302 37 37
o028 Nt sHEdst AFAY detat
of Byt 4,000 4 4
020228 NEtA sEE-s NEAE T8l 0f
INRUIE 12,090 13 13
O2022F HSAE AHs At EH| HSH&H
Bhef 452,000 452 452
O2022d MSAIS ArYst AFY ZH| Ol XHeH
BHe 4,510 5 5
020223 &R ArS A AXHE F2d] A
A ZH| HERon phg
3,117,600& 3,118 3,118
Oo2e1E =XASZ2SHME CIAIME X
PIAIY EHI HERron g
1,350,000 1,350 1,350
O221E =XAISEHUSHE IS E S At
KEAE EHI D atol ght
1,215,600 1,216 1,216
020228 =XAISEUSHS AIHSE S A
A2AE EHl &y gy
942,400 943 943
Q2022 AlZerets| MK AY &Hl &3
ZhOH By 124,000 124 124
O2022 AlZetets] IR At EHI 01Xt
o Byt 2,850 3 3
o202 stugs detdslz NEAE &
Bl el &ron Bt 6,505,830 6,506 6,506
O2022d stilgal slEtdaE NEAME =
I OIXteH gHg 30,4002 31 31
02022 stilgA! Non-GMOAITHEZ KIRALY &HI
S xton iyt 4,443,830 4,444 4,444
02022 834! Non-GOAIHE XIRAHY ZHI
OIXteH Brgh 7,150 8 8
O2022F stlgal ATHE A4S A &HI
ol gy 50,600 51 51
Q202 stngal ATHE oA A EHI
OIX+e B 4,310 5 5
o202 SEM2MELD XM =Hl B
&hoK By 10,500,000& 10,500 10,500
O2022d8 RINVISAE USHIE NFAME =
Hl ZeH&H Bt 725,700 726 726
O2022d RINIISAS USHIE NEAME =
Bl OIXteH Bt 2,230 3 3
O202E8 =sSsual WA XJAYE &




SA sH
HH: JRE=(sFH)
&el: 28XE EER=E)
A -3 - A4A(3H) - MRAY - BES Ofl &roH J| M oA Hpnsz
Q2022 GAP I AEA XAAIY SHl ZeE
o4 Byt 535,470 536 536
Q2022 GAP OHEAEA XIAMY ZH| O XHoH
Bt 2,990¢ 3 3
Q20228 MZAl AKIXIAEH 22241 X2 A
o TH| O|X} ZHAHOH Biut 21,910¢ 22 2
Q202 2TIZC OFMA 1AL XA EH
ZlgH Xtow it 1,254,0002 1,254 1,254
O202E T-A2 8 s=HA2 TE D&
M KA CH| ZgH Xtow it
7,183, 140€ 7,184 7,184
OARE 24 SAIZAY ZEI KIRA
CH| &8 &row it 38,636,0002 33,636 33,636
Q2R 24 SAZAY ZET KA
CH| OIX} Lraqol vt 77,2709 78 78
O202E sat2 ~E222H| IAY SH| E
8 AIOH Bt 13,336,200 13,337 13,337
O202E sAt2 =E22H HWHAIY ZH| E
3 ZIOH Bt 15,000,0002 15,000 15,000
O2022 22401 THf SH XA ZH| &
8 ZroH Bt 3,000,000 3,000 3,000
O2022 Mtst enfid| XA SH| &
ZhoH Bt 7,862,400 7,863 7,863
OO0 FLHsk evyiY] XIRIAFY SH| Ol
SEAHOH Bt 31,450& P 3P
02022 XSASAS QIEH| XIRAY EHI
Zl S RroH Bt 7,267,580 7,268 7,268
020223 ZSHA= A2 QIEH| XIKAIY CHI
Ol Kretagon Bt 131,970& 132 132
Q202 XSASMS BRZoAAL XIRIA
o CH| ZsHEron gt 547,110€ 548 548
Q202 FSASM2S TBRZAAAL XIRA
o SH| O|Ap2raiod Biyt 8,990 9 g
O202E RINLSAR| KSRSH SH &
ZhOH Bt 269,490 270 270
O202E RI|2= XEXEH TH 0K
AJOH Bt 280 1 1
O2022d Z&tA B EAEFIE IMEE X2
Abl EH| EEHRFOH Bt 7,945,000 7,945 7,945
Q2022 st B HASIEA CIMEIE X2
AFSS SH| Q| KpEAHOH Bht 8,0102 9 9
Q2022 FSASAS HATH HESIH =
AN CH| ZEHEoH Bht
1,031,400 1,032 1,032
Q2R E R 8 DI HEZHRID] K= AL
o CH| ZeHEroH Bht 10,910 11 11
Q202 RIS KIRALS SH| RS
o4 Byt 5,799, 150& 5,800 5,800
Q2022 RIS KIRALS SH| Ol Xree
AJOH Bt 35,310& b %
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